
703/34  

(S) = Ord.No. 10/24

90180  
(S) M4x30

90185  
(S) M4x35

76/19 

Fett

Ord.No.10/36

117/5 (S)

Ord.No. 707

8,2mm

8,0mm
90536
M5 

117/6
117/8

117/4

6-Blatt-Rotorkopf
Ord.No.706/20

057
M5x34

75  
8x16x4

060/4 (S)  
M3x8,5

90535
M4 

107/17
2,5mm

75  
8x16x4

10/08

052
M4x33


